Untitled.notebook December 10, 2018

Multiple Choi
ple Choice *;\b‘

Identify the choice that best completes the statement or answers the question. SHOW all work an Logse leaf

1. Suzanne wants to put a fence around her sauare Earden l r o S‘%

If the garden covers an MIEE how many metres of fencing does she need? W <
a 26m ¢ 676m d 13m ' -,

2 Ed 100 5 = Uxside
a 18 b. 108 0 . 800 =uqx (3
3. Find the sum of 41 + 52, -
_ a 36 lt-t‘a‘b_ 81 40 Sa
4. Which whole number 1s -/ 124 closer to?
b 10 c 13 d 12 \I\a\‘

5. Simplify 10+ /13 t whole number. N
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6. Fmd the appmxmlate side length of a square with area 27 cm?.

(=N

(=N

LA

gwer to 1 decimal place.

\‘3-1 b. 13.5cm c. 37cm d. 6.8cm
g S wthe®™ e (+3)

S x ~5-‘b ?a Findtheprg:lut_::lc_;’f—l{]and+3 C o
Scb\mre.‘a A’(e.q Sege S"Jg_a

? Dde l2agths \| fren

Q’Fer:mdcr 3%“«'1) Y x sk

5)W+J:T

& W R
x3.| -6

b1

o



Untitled.notebook December 10, 2018

(<a) & e,
Tohl distance

8. Write the integer division modelled by this number hine.

E a \) _:,—:’Qs)l’s: < ﬂi 1 ) % 3 b
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9. Evaluate. 13+ 9+ (~3)+9 @ 6‘3),', -3 4 9
-7

a 1 b -1 c 7
-6 + 9

10. Which object is NOT a prism?

a. Object A b. ObjectB c. ObjectC d. ObjectD
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Problem = :7‘(_;:\: o 42644286 = h_f
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29. Iz 4.24 a good estimate gf ~J 187
\l Justify your answer.

b
R

30. Skip bought a square lot on which he wants to build a house. The length of a side of the lot 15 53 m_ Skip
plans to build a house with a length of 23 m and a width of 21 m.
a) Find the area of the house.

b) What percent of the lot will be covered by the house? Round your answer to the nearest percent.
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